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Review - 3™ Quarter Quarte Advanced Mathematics

For the given functions: h(x) = 2x ¢ | and k(x) = 4x onswer questions | and 2

D hk(x)
)(k(h(-zn

3) Find g, the inverse of g(x), if 9\;7):: ‘:'Zx-*l-\ . LZ\I_-Z
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o Yo \ :% AS"L“\"’ =5

a) Evaluote:[%) G-) =
F)a) = B

- .2503b—‘¢‘."2 ) 5
5) Slmphfy-m - b az b\gc-g

6) Given £{(-1,3)(2,4) (4.1) (0.3)}, which is true £ d\%‘ (3 ‘-\3 (L{ "2-3 (,\ ,43 (3 ‘033

}lf)/Both Fand 7 ! are functions

j?z)‘ﬁei or ' gre functions
) Only 7 is a function

(#7Only 7~ is a function *everg' X 3065 +tO0 ong 2/
% not fonction T X's Yepeal”
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. 7) Evaluate the fo!lomng function f(x): At Ins | for 1-4)
() 2402 -3 ) <\
8) The expression 4a ’ is equivalent te S-B4w) 11+l =

(2)5 M5 -k

9) Find {' the mverse of F{x) of f(x)e v |
’ gj:S'X°\ —OX\’S :‘\

17,?' {97"' £00)= %’l

Given the following graph,
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a. express the domain and range using interval notation 5 4 “bax 4 3
b. Find A-1) =Q . 'SL 4—\-5-
whan X=-\ ) ‘a' =0 ‘2/

%O) Solve the system of equations
2x + Y=
y=-4x+

and express the roots in simples(a+ biform >
K= 2. X\ -4 0()

2x+ X -Ux+ =1
2 50 g B \ 2.(\3
XL"Z_X x5 20 X = _____-Z‘t -§ - 22T
O X \‘ % 2 3
= 20§ - .
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1) Evaluate the function for the value of x: f(x) = 3x* - 2x + 1, f(-4)
£ED=3A) -2 (4)+]
=3(1e) +8+1 =37

XFind 1, the inverse of f(x),if f(x)= S5x-1

XFor the given functions: f(x) = x + 3 and g(x) = 4x answer the following question

a) (fog)x) b) (g £ )Nx) o) (fogX-2)

4) Solve algebraically:

a) Y+4=2x (-3 ,"“9> b)y-x= 2 (2 ‘L‘Q

Y=x*+3x-10 (’Z_‘OB y=x?-2x+4 ( \5\ |
, B T S =2 ) \\LZI
@Using m:m:i-ies, setup and solve: x+§y=17 —4[\ i ‘ ~1 De:\—z E?El :S—'S
X=11 2 _(\3(7—\"&13(“) 2‘*‘1 L (IR
i = = e —-_ - Y-
=% -3 -3 5 @/'L—g—\—: .).( \:,
6) Divide using synthetic division: Ix? +9x? +23x+15; x+5 —» X= -S. ” @
-S)1q 1315 ® ass
L-s P X +4x+3
4 3 O

.9 =315 211 3] s 2
7) Combine: [4 ]]+[_1 6]’{3 -2}— [(0 -2




N

4y y+4=2X
>y 47’ Y44 =23 Y@
y;—x ) B y+4 -G VHi4=4 @
V=‘IO Y:O

H3Ix -0 +H=2X

¥orX -l =0 <‘3J‘\O\ * (7"@3




8) Solve for x. f:;%;i.l:/?‘\’; 2 x-k(_p =%

9) Describe the end behavior for the following function:
f(x)=4x® -5x* +2x° -8x +4

QAL *+PosiTive \L A
as X-¥e0, §(x)>co

as X 2 -0, £(X) -0
10) The function f(x) is fully defined by the graph. Evaluate f( -2) = .
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